[ERE/El 1T —F 1844

Nylon/D0O

BESD

EHRES iR Size (mm) EHhRET Size (mm)
Part Number M DK 4 n Part Number M DK 4 n

00000D0020010404 M2x4 371 133 0.63 00000D0080125010  M8x10 1287 4.85 219
00000D0020010406 M2x6 371 133 0.63 00000D0080125020  M8x20 12.87 485 219
00000D0020010408 M2x8 371 133 0.63 00000D0080125025  M8x25 12.87 485 219
00000D0020040010 M2x10 3.71 133 0.63 00000D0080125030  M8x30 12.87 485 219
00000D0020040012 M2x12 371 133 063 00000D0080125035  M8x35 1287 485 219
00000D0020040016 M2x16 3.71 133 063 00000D0080125040  M8x40 1287 485 219
00000D0030050006 M3x6 541 193 0.93 00000D0080125045  M8x45 1287 4.85 219
00000D0030050008 M3x8 541 193 093 00000D0080125050  M8x50 12.87 485 219
00000D0030050010 M3x10 541 193 093 00000D0080125060  M8x60 12.87 4.85 2.19
00000D0030050012 M3x12 541 193 093 00000D0080125070  M8x70 12.87 485 219
00000D0030050016 M3x16 541 193 093 00000D0080125080  M8x80 12.87 4.85 2.19
00000D0030050020 M3x20 541 193 093 00000D0080125090  M8x90 1287 4.85 219
00000D0030050025 M3x25 541 193 093 00000D0080125100 M8x100 12.87 485 219
00000D0040070006 M4x6 689 253 139 00000D0100150008  M10x8 1587 585 2.69
00000D0040070008 M4x8 689 253 139 00000D00100150020 M10x20 15.87 585 2.69
00000D0040070010 M4x10 6.89 253 139 00000D0100150025 M10x25 15.87 585 2.69
00000D0040070012 M4x12 6.89 253 139 00000D0100150030 M10x30 1587 585 2.69
00000D0040070016 M4x1l6 6.89 253 139 00000D0100150035 M10x35 1587 585 2.69
00000D0040070020 M4x20 6.89 253 139 00000D0100150040 M10x40 15.87 585 2.69
00000D0040070025 M4x25 6.89 253 139 00000D0100150045 M10x45 1587 585 2.69
00000D0040070030 M4x30 6.89 253 139 00000D0100150050 M10x50 15.87 585 2.69
00000D0040070040 M4x40 6.89 253 139 00000D0100150060 M10x60 15.87 585 2.69
00000D0050080006 M5x6 839 321 139 00000D0100150070 M10x70 15.87 585 2.69
00000D0050080008 M5x8 839 321 139 00000D0100150080 M10x80 15.87 585 2.69
00000D0050080010 M5x10 839 321 139 00000D0100150090 M10x90 15.87 585 2.69
00000D0050080012 M5x12 839 321 139 (00000D0100150100 M10x100 15.87 585 2.69
00000D0050080016 M5x16 839 321 139 00000D0100150150 M10x150 15.87 585 2.69
00000D0050080020 M5x20 839 321 139 00000D0120175010 M12x10 1835 7.58 2.77
00000D0050080025 M5x25 839 321 139 00000D0120175020 M12x20 1835 7.58 2.77
00000D0050080030 M5x30 839 321 139 00000D0120175025 M12x25 1835 7.58 2.77
00000D0050080035 M5x35 839 321 139 00000D0120175030 M12x30 1835 7.58 2.77
00000D0050080040 M5x40 839 321 139 00000D0120175040 M12x40 1835 7.58 2.77
00000D0050080045 M5x45 839 321 139 00000D0120175050  M12x50 1835 7.58 2.77
00000D0050080050 M5x50 839 321 139 00000D0120175060  M12x60 1835 7.58 2.77
00000D0050080055 M5x55 839 321 139 00000D0120175070 M12x70 1835 7.58 2.77
00000D0050080060 M5x60 839 3.21 139 00000D0120175080 M12x80 1835 7.58 2.77
00000D0050080065 M5x65 839 321 139 00000D0120175090 M12x90 1835 7.58 2.77
00000D0060100008 M6x8 989 375 179 00000D0120175100 M12x100 1835 7.58 2.77
00000D0060100010 Meox10 989 375 179 00000D01201751150 M12x150 1835 7.58 2.77
00000D0060100012 M6x12 989 375 179

00000D0060100016 Méex16 9.89 375 179

00000D0060100020 Meox20 989 375 179

00000D0060100025 M6x25 989 375 179

00000D0060100030 M6x30 9.89 375 179

00000D0060100035 Mex35 989 375 179

00000D0060100040 M6x40 9.89 375 179

00000D0060100045 M6x45 989 375 179

00000D0060100050 Mex50 9.89 375 179

00000D0060100060 Mé6x60 9.89 375 179

WR#EFRA BIENMFE



	Sheet1

